AT E@NGRRIVREFRINERST AT

BEEIS RERE EiRKE | ERSG | SRS | EERS
24500003400005033243002422 ATEINER (--) =& IEEER 75.5 62.0 =X
24500003400005033243002423 ATEINER (--) =& IEEER 76.0 77.0 =X
24500003400005033243002424 ANTEENZEF (--) =2k EEER 715 77.0 &%
24500003400005033243002425 ATEINER (--) =& IEEER 67.0 68.0 =X
24500003400005033243002426 ATEINER (--) =% IEEER 76.0 85.0 =X
24500003400005033243002429 ATEINER (--) =& IEEER 755 67.0 =X
24500003400005033243002430 ATEINER (--) =& IEEER 76.5 65.0 =X
24500003400005033243002431 ANTEENZET (--) =2 EEER 815 84.0 &
24500003400005033243002432 ANTEENZGT (--) =2k EEER 75.5 69.0 &
24500003400005033243002433 ATEINER (--) =2 IEEER 77.0 91.0 =X
24500003400005033243002435 ATERINER (--) =& IEEER 70.5 60.0 =X
24500003400005033243002436 ATEINER (--) =& IEEER 76.0 75.0 =X
24500003400005033243002437 ANTEENZET (--) =2k EEER 74.0 70.0 &
24500003400005033243002438 ATEINER (--) =& IEEER 72.5 75.0 =X
24500003400005033243002439 ATEINER (--) =& IEEER 74.5 74.0 =X
24500003400005033243002441 ANTEENZET (--) =2k EEER 80.5 78.0 &
24500003400005033243002442 ANTEENZET (--) =2 EEER 745 85.0 &
24500003400005033243002443 ATEIINER (--) =& IEEER 74.5 75.0 =X
24500003400005033243002444 ANTEENZET (--) =2k EEER 76.5 68.0 &
24500003400005033243002446 ATEINER (--) =& IEEER 71.0 81.0 =X
24500003400005033243002447 ATEINER (--) =& e 0.0 0.0 TEE
24500003400005033243002448 ATEINER (--) =& IEEER 61.0 78.0 =X
24500003400005033243002450 ATERINER (--) =& IEEER 725 62.0 =X
24500003400005033243002451 ATEINER (--) =& IEEER 735 80.0 =X
24500003400005033243002452 ANTEENZET (--) =2k EEER 74.0 64.0 &
24500003400005033243002453 ATERINER (--) =& IEEER 73.0 61.0 =X
24500003400005033243002454 ATEINER (--) =& IEEER 76.5 84.0 =X
24500003400005033243002455 ATERINER (--) =& IEEER 68.5 87.0 &8
24500003400005033243002456 ATEINER (--) =& IEEER 735 63.0 =X
24500003400005033243002458 ATEINER (--) =& IEEER 78.5 84.0 =X
24500003400005033243002459 ATEINER (--) =& IEEER 76.0 88.0 =X
24500003400005033243002461 ANTEENZET (--) =2 EEER 785 83.0 &
24500003400005033243002462 ATEINER (--) =& IEEER 735 62.0 =X
24500003400005033243002463 ATERIINER (--) =& IEEER 76.5 67.0 =X
24500003400005033243002464 ANTEENZEF (--) =2k EEER 715 76.0 &
24500003400005033243002465 ATEINER (--) =& IEEER 77.0 87.0 =X
24500003400005033243002467 ANTEENZET (--) =2k EEER 73.0 74.0 &8
24500003400005033243002468 ATEINER (--) =& IEEER 75.0 82.0 =X
24500003400005033243002469 ATEINER (--) =& IEEER 75.5 81.0 =X
24500003400005033243002471 ANTEENZET (--) =2 EEER 72.0 70.0 &
24500003400005033243002472 ANTEENZGT (--) =2k EEER 725 64.0 &
24500003400005033243002474 ANTEENZEF (--) =2k EEER 77.0 49.0 NEY S
24500003400005033243002475 ATEINER (--) =& IEEER 755 86.0 =X
24500003400005033243002476 ATEINER (--) =& e 0.0 0.0 TEE
24500003400005033243002477 ANTEENZET (--) =2k EEER 785 81.0 &
24500003400005033243002478 ATEINER (--) =% IEEER 76.5 72.0 =X
24500003400005033243002479 ATEINER (--) =& IEEER 735 78.0 =X
24500003400005033243002480 ATEINER (--) =& IEEER 785 80.0 =X
24500003400005033243002481 ANTEENZET (--) =2k EEER 67.5 66.0 &
24500003400005033243002483 ATERIINER (--) =& IEEER 785 83.0 =X
24500003400005033243002486 ATEIINER (--) =& IEEER 775 71.0 =X
24500003400005033243002487 ANTEENZEF (--) =2k EEER 75.0 79.0 &
24500003400005033243002489 ATEINER (--) =& IEEER 68.0 75.0 &%
24500003400005033243002490 ATEINERD (--) =& IEEER 775 53.0 Y
24500003400005033243002492 ANTEENZEF (--) =2 EEER 73.0 93.0 &
24500003400005033243002493 ATEINERm (--) =& IEEER 735 89.0 =X
24500003400005033243002494 ANTEENZET (--) =2k EEER 775 86.0 &
24500003400005033243002495 ATERINER (--) =& IEEER 725 87.0 =X
24500003400005033243002496 ATEINER (--) =& IEEER 725 73.0 =X
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AT E@NGRRIVREFRINERST AT

BEEIS RERE EiRKE | ERSG | SRS | EERS
24500003400005033243002563 ATEINER (--) =& IEEER 775 75.0 =X
24500003400005033243002564 ANTEENZET (--) =2k HhE 76.5 44.0 Y
24500003400005033243002565 ATERINER (--) =& HhE — 69.0 =X
24500003400005033243002568 ATEINER (--) =& IEEER 74.5 88.0 =X
24500003400005033243002569 ATEINER (--) =% IEEER 74.0 86.0 =X
24500003400005033243002570 ATEINER (--) =& IEEER 76.5 63.0 =X
24500003400005033243002573 ATEINER (--) =& IEEER 755 73.0 =X
24500003400005033243002576 ATEINER (--) =& IEEER 67.0 84.0 =X
24500003400005033243002577 ANTEENZGT (--) =2k EEER 72.0 72.0 &8
24500003400005033243002578 ATEINER (--) =2 IEEER 72.5 64.0 =X
24500003400005033243002579 ATERINER (--) =& IEEER 79.5 82.0 =X
24500003400005033243002581 ANTEENZET (--) =2k EEER 75.0 84.0 &
24500003400005033243002582 ANTEENZET (--) =2k EEER 715 81.0 &
24500003400005033243002583 ATEINER (--) =& IEEER 79.5 78.0 =X
24500003400005033243002584 ANTEENZEF (--) =2k EEER 775 90.0 &
24500003400005033243002585 ATEINER (--) =& IEEER 755 81.0 =X
24500003400005033243002586 ATEINER (--) =& IEEER 79.5 78.0 =X
24500003400005033243002587 ANTEENZET (--) =2 EEER 75.5 82.0 &
24500003400005033243002588 ATEIINER (--) =& IEEER 79.5 92.0 =X
24500003400005033243002589 ATEINER (--) =& IEEER 74.0 75.0 =X
24500003400005033243002590 ATEINER (--) =& IEEER 74.0 83.0 =X
24500003400005033243002591 ANTEENZET (--) =2k EEER 76.5 93.0 &
24500003400005033243002592 ANTEENZEF (--) =2 EEER 73.0 79.0 &
24500003400005033243002593 ATEINER (--) =& IEEER 61.5 52.0 TEE
24500003400005033243002595 ATEINER (--) =& IEEER 79.5 80.0 =X
24500003400005033243002597 ANTEENZEF (--) =2 EEER 735 60.0 &
24500003400005033243002599 ATEINER (--) =& IEEER 72.5 69.0 =X
24500003400005033243002601 ANTEENZET (--) =2k EEER 785 73.0 &
24500003400005033243002602 ANTEENZET (--) =2k EEER 73.0 61.0 &
24500003400005033243002603 ATEINER (--) =& IEEER 735 70.0 =X
24500003400005033243002604 ANTEENZET (--) =2k EEER 75.5 67.0 &
24500003400005033243002605 ATEINER (--) =% IEEER 74.5 72.0 =X
24500003400005033243002607 ATEINER (--) =& IEEER 715 62.0 =X
24500003400005033243002608 ATERIINER (--) =& IEEER 77.0 91.0 =X
24500003400005033243002609 ATERIINER (--) =& IEEER 755 94.0 =X
24500003400005033243002610 ATEINER (--) =& IEEER 815 83.0 =X
24500003400005033243002611 ANTEENZET (--) =2k EEER 78.0 80.0 &
24500003400005033243002612 ANTEENZET (--) =2k EEER 75.5 79.0 &
24500003400005033243002613 ATEINER (--) =& e 0.0 0.0 TEE
24500003400005033243002614 ANTEENZET (--) =2 EEER 76.5 78.0 &
24500003400005033243002615 ATEINER (--) =& IEEER 755 82.0 =X
24500003400005033243002616 ATEINERm (--) =& IEEER 725 74.0 =X
24500003400005033243002617 ANTEENZEF (--) =2k EEER 76.0 76.0 &
24500003400005033243002618 ATEINER (--) =& IEEER 74.0 81.0 =X
24500003400005033243002619 ATEINER (--) =% IEEER 78.0 76.0 =X
24500003400005033243002620 ATEINER (--) =% IEEER 75.0 81.0 =X
24500003400005033243002621 ANTEENZGF (--) =2k EEER 715 94.0 &
24500003400005033243002622 ANTEENZET (--) =2k e 0.0 0.0 Y
24500003400005033243002624 ANTEENZET (--) =2k EEER 735 48.0 Y
24500003400005033243002625 ATERIINER (--) =& IEEER 80.0 72.0 A
24500003400005033243002626 ATEIINER (--) =& IEEER 785 67.0 =X
24500003400005033243002627 ANTEENZEF (--) =2k EEER 73.0 76.0 &
24500003400005033243002628 ATEINER (--) =& IEEER 75.0 84.0 =X
24500003400005033243002629 ATEINERD (--) =& IEEER 70.5 69.0 =X
24500003400005033243002630 ATEINER (--) =& IEEER 76.5 77.0 =X
24500003400005033243002631 ANTEENZEF (--) =2 EEER 745 79.0 &
24500003400005033243002633 ATEINER (--) =& IEEER 75.0 64.0 =X
24500003400005033243002634 ANTEENZEF (--) =2k EEER 74.0 65.0 &
24500003400005033243002635 ATEINER (--) =& IEEER 76.5 79.0 =X

¥3W, #£5T




AT E@NGRRIVREFRINERST AT

BEEIS RERE EiRKE | ERSG | SRS | EERS
24500003400005033243002636 ATEINER (--) =& IEEER 74.0 61.0 =X
24500003400005033243002637 ANTEENZET (--) =2k EEER 75.5 66.0 &
24500003400005033243002638 ATERINER (--) =& IEEER 74.0 86.0 =X
24500003400005033243002639 ATEINER (--) =& IEEER 69.5 49.0 Y
24500003400005033243002640 ATEINER (--) =% IEEER 705 420 Y
24500003400005033243002641 ANTEENZEF (--) =2 EEER 84.5 89.0 &
24500003400005033243002643 ATEINER (--) =& IEEER 70.0 68.0 =X
24500003400005033243002644 ANTEENZET (--) =2 EEER 74.0 72.0 &8
24500003400005033243002645 ATEINER (--) =& e 0.0 0.0 TEE
24500003400005033243002646 ATEINER (--) =2 IEEER 77.0 89.0 =X
24500003400005033243002647 ANTEENZEF (--) =2k EEER 715 60.0 &
24500003400005033243002648 ATEINER (--) =& IEEER 76.5 75.0 =X
24500003400005033243002649 ATEINER (--) =& IEEER 76.5 84.0 =X
24500003400005033243002650 ATEINER (--) =& IEEER 74.0 75.0 =X
24500003400005033243002651 ANTEENZEF (--) =2k EEER 73.0 65.0 &
24500003400005033243002652 ANTEENZET (--) =2k EEER 775 66.0 &
24500003400005033243002654 ANTEENZET (--) =2 EEER 75.5 76.0 &
24500003400005033243002655 ATEIINER (--) =& IEEER 76.5 78.0 =X
24500003400005033243002656 ATEIINER (--) =& IEEER 71.0 76.0 =X
24500003400005033243002657 ANTEENZEF (--) =2k EEER 735 66.0 &
24500003400005033243002658 ATEINER (--) =& IEEER 72.5 78.0 =X
24500003400005033243002659 ATEINER (--) =& IEEER 74.0 61.0 =X
24500003400005033243002660 ATERINER (--) =& IEEER 80.5 74.0 A&
24500003400005033243002661 ATEINER (--) =& IEEER 715 81.0 =X
24500003400005033243002662 ANTEENZET (--) =2k EEER 76.5 81.0 &
24500003400005033243002663 ATERINER (--) =& IEEER 785 75.0 =X
24500003400005033243002664 ATEINER (--) =& IEEER 78.5 78.0 =X
24500003400005033243002665 ATERINER (--) =& IEEER 70.5 73.0 =X
24500003400005033243002666 ATEINER (--) =& IEEER 69.5 47.0 AEHE
24500003400005033243002667 ATEINER (--) =& IEEER 78.5 64.0 =X
24500003400005033243002668 ATEINER (--) =& IEEER 70.5 69.0 =X
24500003400005033243002669 ATEINER (--) =% IEEER 74.5 74.0 =X
24500003400005033243002670 ATEINER (--) =& IEEER 74.5 74.0 =X
24500003400005033243002671 ANTEENZET (--) =2k EEER 76.5 77.0 &8
24500003400005033243002672 ANTEENZEF (--) =2k EEER 75.5 55.0 Y
24500003400005033243002673 ATEINER (--) =& IEEER 72.0 47.0 e
24500003400005033243002674 ANTEENZET (--) =2k EEER 77.0 86.0 &
24500003400005033243002675 ATEINER (--) =& IEEER 74.5 78.0 =X
24500003400005033243002676 ATEINER (--) =& IEEER 76.0 91.0 =X
24500003400005033243002677 ANTEENZET (--) =2 EEER 77.0 79.0 &
24500003400005033243002678 ATEINER (--) =& IEEER 79.5 80.0 =X
24500003400005033243002680 ATEINERm (--) =& IEEER 69.5 61.0 &%
24500003400005033243002681 ANTEENZEF (--) =2k EEER 75.0 60.0 &
24500003400005033243002682 ANTEENZEF (--) =2 EEER 70.0 72.0 &%
24500003400005033243002683 ATEINER (--) =% IEEER 74.5 84.0 =X
24500003400005033243002685 ATEINER (--) =% IEEER 73.0 77.0 =X
24500003400005033243002686 ATEINER (--) =& IEEER 775 78.0 =X
24500003400005033243002687 ANTEENZET (--) =2k EEER 75.0 79.0 &
24500003400005033243002688 ATEINER (--) =& IEEER 72.5 61.0 =X
24500003400005033243002689 ATERIINER (--) =& IEEER 73.0 53.0 A&
24500003400005033243002690 ATEIINER (--) =& IEEER 78.0 70.0 =X
24500003400005033243002691 ANTEENZEF (--) =2k EEER 76.0 72.0 &8
24500003400005033243002692 ANTEENZET (--) =2k I — 60.0 &
24500003400005033243002693 ATEINERD (--) =& IEEER 80.5 73.0 &8
24500003400005033243002695 ATEINER (--) =& IEEER 74.5 65.0 =X
24500003400005033243002697 ANTEENZEF (--) =2 EEER 75.5 83.0 &
24500003400005033243002698 ATEINER (--) =& IEEER 80.5 79.0 &%
24500003400005033243002699 ATERINER (--) =& IEEER 79.5 78.0 =X
24500003400005033243002700 ATEINER (--) =& e 0.0 0.0 TEE
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